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Level Up Your Korean: New Transcription Format
To enhance your Korean language learning experience, we've decided to provide more

authentic/original Korean transcripts starting from Lecture 18 (Unit 3) onwards. While
English romanization will still be included for reference, we encourage you to prioritize
reading and understanding the Korean script directly.

Here's a tip: Start slowly and gradually increase your reading speed. If you find it
challenging, we recommend reviewing your Hangeul lessons.

Remember, learning a new language takes time and effort. You can do it! Keep practicing
and stay motivated. %2}g & 4 QlojQ! mto|]lr

o2lE, st {dstAlR.} U, Foll TR Qatshe. Qhg, {3} o, Qg! Fofl YZolx,

(oenjjok), 2% (oreunjjok), 9% 4], 22] 23 NPTEL Z7o0|A] QIAIBHLR. Two versions, OK, A3}, QH35HA| L,
9Hd. OK, Unit 3, today, we'll learn about Unit 3. Unit 3, <4 2}’(sam gwa), right? 3 I} A|50] o272 #|=20]
27 3 7} A Zo](jemogi) FL? You remember that? 7|]9Lt2? Gieongnayo? 7|9ut2? 3 1} A|Eo] #of_?
Can you read it? $loJE AL (ilgeoboseyo). gH=0lE ZE R, gH=20]E FE) 2, Hangugeoreul gongbuhaeyo.

OK, we'll cover Grammar and Expression and Speaking 1, hopefully, OK? 4].

Lecture 19.Unit 3 $10{ & 84612 Grammar 2, Speaking 1 [ .
Ok
= -5
ot20f 1 ' Unit
et 1 nit3

First of all, I'd like to review what we learned last time. Do you remember this grammar item? 7|9LtL,
ofzjg? 7]ojLta? Hela? ol Hel2? oL Hele, cfelE? ojAL Hela? o2 ol2 #12, okay, ayo eoyo
haeyo. OK, very good, very good, 4| 92|12, o}Q o]Q 3}Q. We already learned about these, you know,
categories, right? OK, so you can see, you can see the first group. Here are some example verbs, okay? AT}
2t} st} QlojQ. OK, salda alda nolda. Here, ©47]of| 9§7]of|, what is a verb stem? Verb stem is kind of a root

of the verb, right?
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So, in the case of At} what is a verb stem
here? Verb stem, verb stem here, - - &-,
and then here 947]=? &-, okay, A- &- =-
and then 7}- Al- A}-, right? Okay, here &,
2} &, Yes, that's right, okay, good, good.
4, & }3 How about here? Verb stem, verb
stem, 9- H- F- OfA]- H-2- - &~ very good,
very good. OK, actually G}E}, St} verb, in
the case of }t}, F5a}-, s}, Yat, AlFs},
right, okay? OK 4], £0}82. OK so AT} At}
AT} first, to live, AT ATl o} 22 @ RS
9lojQ, Qlojg2 ol RS @ B2 9lojQ g0]Q? ‘A’ moeum, ‘0’ moeum, ©F vowel or 2 vowel, 31018, glojL?
Al-, of B3 9loj@ dhotQ. of BE QlojQ. This is ' moeum, right? This is I moeum. In that case, what
should we attach? What should we put? o2 o] 3}Q. {0} 2.} o} L, that's right, °}.2 ©}{ okay, we can use
ofQ ofQ otQ Ak AF Al plus ofg, right? 4 plus(+) ©FL, okay, say it together, Ao}Q {Aot2} Wsli_, Aofe
{Ao}Q } Aot Q {Ao}Q } Aote Aotg okay, ATH-AtotQ, A2t Alth-AtolQ | salda-sarayo, okay. How about
arp? gt} of RS @ B2 gloje? of B2 9lojQ OK so what is the output? ¥otL, very good, very good,
got8 Uote, okay, Yot & Fote Yote gote. Aope gotg, Aofg gdotR. OK how about =Tt T}, &t
oftf 27 &t} how is EC}? BTt &-, of 2291012, @ B2 9J0j7 {Q B2 9Joj2.} 2 B2 9ojQ. Tt Here,
2 BZ that'sright, @ 23, 2 B2 3l0]Q OK o} of, @ o} @ okay, o 23, 2 B2 okay, 31°|8. o}, oL,
Y|, 5T 2 23 9loj2. And then & & + ©F8, that's right, =0, AotQ ¥olQ =ofQ. t} ZHo] AJ2} Aot
golQ =02, okay, sarayo arayo norayo. 4], £08.

‘ T Next one, 7IT}, T, 71T}, gada, to go, AFC} to buy, AIC} to sleep.
-Qr2 ) 018 [ -8 o ne qole, © B3 Goi2? Fhtt, of BL Glola. Here, oF BS

Fy 2 Q1012 okay, so, 7} 7} o} &, okay, but here you can see 7}-O}, okay,
j‘;";'— (lve) 2 * ort two ©} s here, right? OK so if you say this one quickly, ‘7}-0}-8°,
o“ e L G know) & *ore 7totQ, 71-8, 712 718 7}, right, okay? Yes, yes, that's right, so
£ .

o 1o 7}, okay, actually 7} of 22, of o} B2 the same, right,
redundant, redundant, the same, 2°}, gatayo, the same, 20},

S 7+ de — B drop this one, right? 7, so 7k2 718, okay, let's go, A&, 7t 7}c}-
ArCF = "'—:* 712, okay. How about AFC} AFC} AFCEH the same right, same rule,
2T S same conjugation rule here, right? Atch, Al-otQ, At & ALQ, right?

OK, A&, At} 2k 2, Ate Ate Ate, Ath-AlR, AThARR. How
about AJT}, AT}, {2t} {At2.} Z2o8, £Zol2? The same or not?
Same, IotL, TotQ 718 AtQ 218 AJZF 7t AR 2}, @ Aholg.
Gayo sayo jayo, okay OK we have a new word today, T}, okay, okay, to close, to close, okay. So,
something like 22 ©ot2 (muneul dadayo). & & is the door, okay, to close the door, okay, #& E°}L,



T T of 22 gloje, @ B2 9loje? {o} B2 9loje.} o B2 9lojg, Botg, of B2 gloje, aj7]of o} B2
3lol2. In that case, you can put &, of2 ]2 327 {o}2.} o} right, °}2, okay, very good, &0} 8 like Aot
2olQ =otQ, TolQ TotQ okay. TF 20], | say the dictionary form of the verbs okay and then you say °t&
o] 2 3|2 sentence ending form, informal formal polite speech style, okay, £°FL. Ne let's go, AT} {&o}2}
CHA] §H, ATh ot e} ATt {Fote} Bt} =Tt {0t} 7Ith-7te, Alth-Ate, Ateh-{12}, Prh-Hote Fotg
TolQ | okay, &30l Q, 4. This is ayo, right? of2 ot L.

And next group, next group, you can see next group, $tt, right? It 9ich of 22 9Joj2 @ B2 9l0]Q2 OK.
oL B2 qloje? o]k »37 Y| okay, let's see this one, °] 23 10|18, this one ©] &, here o] 22, right, °]
2, 0] 22 3l0|2, and HT}, oL 23 10|22 Which vowel? ©], o] 23 QlojQ, of 22 glo|Q okay, o &S
30|, &}, yeolda, /& 22 910} 22 Which vowel? o] 23 9l0jQ? | B3 9ol + B3 qloje?2gloje |
BZ 2+ B2 gojQ. OK here, we don't have ‘a’, ‘0’, eopseoyo, right? oF 2 glojQ | okay, so ‘etc.’ the other
vowels, the other vowels, okay? The other vowels, right? £ot2. | 22, | 2&, &r}, &, to open, |t}
which vowel? o] 2.30]0] 27 {0]} o] that's right, yeah, okay. B}-$C}, baeuda. o] 2-30]0]2? 222 Vowel,
vowel? 992 this one, T 230|02, okay. How about 2T}, AT} To use or to write, AT} {2} O that's
right, eu, — 230]o|2, — 23 How about EC}? ‘—> Zo}Q © © R.80|o|Q very good, very good, okay.

So 2T}, so what kind of sentence ending should we
choose? For 9ith, Tt Fr}, DRA|cH HiQC} Ak ETH?

{018}, 018, 0|8 2?2 Why? 9jR720t g glojg @ B L >< ‘

glol2. In that case 18 right? ©18, 912, here 012, okay. Satr I toil = S0l
This one was ©}8, right? o8, here °t8 ot2. Here we ,'\.,'- 2 Yol
have 0] 0]Q, Fot2. 0] o]8. Qlt} ikda, let's go, T}, °§:\-, i
2018, right? gl 2 ilgeoyo o1, glol2 ol Okay, so Clecpen) Sy
ke you know, EOLR. £10p2- o2, this is of 2 case, But OrNEF SR il
meokda, Ho18, right Mo|8. At FGrt, Fol8. OK, these Uy, v > )

18 = A4S

are easy and simple conjugation, OK, T} o], glct-glojQ, BCre wYie) ’?9,: O
Hch-Hojg, Frh-Fol ., A2t qith-gloj e, Mol e, Frt-
Fojg, g ¥ o, gict-9loj, Hrt-HojQ, yeolda-yeoreoyo.
OK, good job, good job, 230} Q. But sometimes we can
have some variants and some irregular versions, okay?
OK, so OFA|T} OFACE ORAJTE, <BF-A]" stem, right? BHA]-0]8, right? OFAl-0]Q, OK. But here you can see A]-9],
Alo}, o]o], o] o] o] o}, right? ©]+0], right? ©] o], 0]o] can be ©]-0] o]o] o]0}, of o] of, do you remember? o
vowel, okay, so it can be 3 7, right? So Bt Q OFMQ ‘OF-AH-2°) got it? OK, OA]-0|Q, OfA]o| R, OfAo|Q,
otA4 8, okay, Al9] si-eo, quickly together, A(syeo), okay, B4R AJ2}F, 04 Q. T} Zo] OfA|ch- DfrjojQ-ntMq Q|
gt ¥ o, OpAJch- DRAjojQ-nb Q. ), FofL. OA|TH-OA|o]R-1F4 R Y|, Fot2. OK how about BJ-¢Ch, HiLLt,
H]Q ofQ o]Q 327 {0]Q} 0|8, ojQ H|R0lQ, right? H]20]L, in this case, okay, $°] £9], right, $0] 9,
£9] is contracted to 9, $°1, quickly, okay, $°1, ¥ {§1} okay. Zgo|2. OK £-9, right? So it can be ¥,



2 3y

1

right right, ZoF2. OK so B Hf-9- 2, Hi¥ R, £ot8. Hig . viY . So B Ct-EiY L, A2 v Lct-uidl e
o, Hjch-eigl_, v QCH-Hil R, £otQ. Hl2T} - to learn, OFA|T} - to drink, you remember that? OK.

And next one, Th2 TH2, next one, daeum. AL} AT ALt of RS 9lojQ @ B29lojQ7¢lojQ goje. o B g
—, —R&9lojg E% Qlo]8. In this case, 2, -0t 0]Q 3272 {0]2.} 0], right? 2A-0]Q. But this is a little
bit, okay, a little bit kind of, you know, variant, okay? So 2-0]L, in this case 2, © 22 plus ©]L, ©]. In this
case, we can drop —(eu) vowel, we can drop ‘— vowel’, so what can we have finally? {# 2.} That’s right,
very good, ‘M-8, right? HL, ML, okay. ACH-HQ. A2 ACE-HQ, §HH E-] ALH-M L, sseuda-sseoyo, okay.
How about T}, £T}? To hear or to listen to something okay. €, €T}, €, €- ©18, right? You remember
oo} gt goh-gole . That is in a regular, a regular kind of a conjugation but here, this is also kind of a
variant, right? £°].. €T}, yeah, | already said that, okay? Not £°|2. Can you hear £°2? Deudeoyo?
Sounds very awkward, huh? | don't feel like you know it's Korean, okay? So in this case, = © changes to
2 2, 59]Q. Softer okay, more comfortable, more comfortable, okay? Not £0|2, S°|2.. Which is better?
Which is more comfortable to your ears? {&°]8.} 50|82, right, right? You’ve got Korean language sense
and sensibility now. Very good, okay, £°}2. No, not t, =2, right? So £°{2 deureoyo, T} 2°], EC}-59|8.
At ETF-2012, €CF-5018, £CH-30] 8. Okay, | will say a dictionary form, okay, you say ©]8 conjugation,

right? it} ¢lojg, 9lojQ. 2422, in a loud voice and clearly, £0t8. AJ2t, Hc} {Ho|_}, ot {Foj.},

opAlch {BP4R} ThAR, B4R, okay. HRSCE {H9I) HAYR, HAYIR, okay, AT (W2}, W ML, Zota. Ect
ET E0h £t {E018 .} 5018, 3t o, ETt ETH{E0]18]}, 5018, 5018, 2 30|, okay.
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And we have the last category, right? St} ST} verbs, this is easy, right? | already told you about this, right?
So actually 3}T}, 3lt} case, ‘8l +948, right? So, it can be 3-8, right? 318 312 32 32. Now you can just
remember 3L, right? 312, 3lch-8Q, 5ltt-5| 2, easy. Okay, 3H5ICH {ZEE L}, that’s right. Oh, that’s easy,
it’s okay, right? 22812, wafsict-afis]e, dsich-Adsie, AEISICH-AYSHR, okay, so here k2 i,
noraehaeyo, ilhaeyo, saranghaeyo, gongbuhaeyo. Okay, you remember O}2H}O]ESIC}? Areubaiteuhada?



OF2H}0|E s a part-time job. This is originally from the German word (Arbeit). We are borrowing this word
from Germany, and this became a Korean word now, right? of2H}0]E to do a part-time job of2H}o|E3}C},
So we conjugate this one into 32, 812 ending, ot2HIO|E3} Q. That's right, o}2H}0]E5|Q, o} 2H}O|ES}Q.
A2}, of=Hlo]EdfQ, 3 ¥ T, of2HIo]E| R, of2H}o|EZ|Q, of2HIO]ES|R. Very good, O 3o, o2&,
Oh now you can understand this rule, okay? £0t2? £ot2, ¢F £o}2? o}, ¢F £0}2? {£o}2.} £o}2.
OK3HHi o, gofa, ¢F Fote? Fote, ¢ Fote? {Fora.} ¢ ¥l o Tafia. Fote, ¢ Fote? {For2.} Fot8.

OK show me, show me, okay, 4], £o} 8. {
. . \"/" ': \ |

Now we will move on to the second grammar item  %¢%" 2, N2/

today, okay? Second grammar item here, 2/& /\]’“

25 % eulreu, FHY S EFHY S E S »‘Z /S’ attaches to nouns and indicates

E2E2E5 okay, 2E2E2ESE Y i°}3 that the noun is the direct object of a verb.

2/% is kind of an object marking particle, object In other words, this shows that the n

marking particle, object particle, okay? Okay, so

o /=2

=/ attaches to nouns, okay, noun, something,
okay, something or someone. 2/& attaches to nouns

and indicates that the noun is the direct object, direct
object of a verb. So it is related to a verb, right, in a
sentence. In other words, this shows that this noun is affected by the action described in the verb. Okay you
will see some examples later, okay. /5 attaches to nouns. /& attaches to nouns.

affected by the action described in th
'

But why do we have, you know, two choices? 2 or £? Why? 2|8, 2272 {#F} HHl. Bingo! 290l Q, #Hl,

2rolQ . Wow, you are so smart, okay, B3, Z0t8. So if we have B, ¥ 9lojQ HH 9lojQ  and then we
use & & 2. Thisis &, right? {£, 2} A Yol EEMQ, EMR. 22 2. Sorry! 2282 222 okay,
remember, AL, 2 & &. ¢ H, & 22 &2 2 okay. ¥ gloj8. No ¥, ¥ glojg, E M. & E A8,
okay, reul sseoyo.We use &, okay? You already learned it, Att-#H 2. OK & & #L, we use € in the case
of no i, #ExI 9Jo] Q@ means, %] 31012 means uh a consonant ending word, right? Consonant ending word.
HF2] 90| 2 means a vowel, okay, vowel ending word, that’s right, okay. §%l 91012, consonant ending word,
consonant ending word. ¥ glo1Q, vowel, just a vowel ending word, okay £°0tL. For example, A=, ),
A= 42 Hoje kg MojQ okay, ¥ WL} Hrh-Ho]Q, ML} js a verb, right here, B0 L, this is a verb, and
what is the object of this verb? # or ¥ {41}, &,

\9‘5‘ : that's right, -2 o, okay, not A, right? &
A O e )
4 h,':*ﬂ(JO) = Mo|Q . This is the object, 4, 4, 58 HojQ. 1} has
\/ = = =
W (X) = B 23 or no T31? 31 gloi g, glole? {3lo18 } qlei8.

Which §H1? o]t BF2l2 u u | that’s right, okay, S0
in this case we can put & =, i Ho|2. A]2h ¥-&
Holg, §hg Holg, 12 Hoig, okay? $018. nt2|2
e AL E. 1] gloj2? AT §lof2. A= 7], #] 7]
Zopsl. 7] QoiR? 7T B2, right? u] oL,
OK. #mZ o}4Q. oRAch-obd L. You remember

) A g e,

nlel2 W ATE o, A

»‘Z[Z’ can be omitted in spoken lang

o) H 27 - J3t HrL.

oll for detalls




that? 7]9LtQ 7 DiA|CE-0kA Q. A2 OFAJch-0p4 R | masida-masyeoyo. ] B glojQ glojQ? {gloj].} glol g,
QlojQ. AHu| ¥kl gloj Q. OK so we put £, we use §. € X 2. #1]-E AHI]-§, H1|E 014 2. Good, good, £0}1.
T} Zo], BiS HojQ Hu|E ot Q. A2t I HojQ Hu|E npA Q. What is tea? Tea in Korean? Y, 2. 25
o4 8. Tea £ §H=20]2 o2 {31} 2}, &, Tol8. Tea = g=2o|2 |2, 3} & or £2 &, Fol8, very good,
ZAglole AHE op . AR, ZHE Dt 8. A1 HHA R, Zlo|], okay.

But in spoken language, =/& can be omitted okay, in an easier way right, simpler way okay. We usually
don't say B 32 in spoken language. We can say H 3122 Faster, right? HallQ, a2 Say it together, Tt
Zo| alia. Heier 3t ¥ o, Heje? g3t Hte. 3t ¥ ¢, FHsf2? yeonghwa bwayo g3} B2, gt ¥ o, Fsie?
g3t ete . HelQ? G} EER_. Okay, but here, HE 3122 G3tE BlL. But this is spoken language. This is spoken
language, and then we can omit this one. We can drop this one, right, £0}2. OK. | 8122 What are you
doing? @3t ¥t Hr}-BlQ HT}L-ELQ you remember that? BCh B HC} of 23 9lojQ @ B2 9lojR?7Q Q
2, 2 1Z3loj8. So B-ofg 0|2 3|87 {o} 2.} ot right, E0}2 and then 2-0}, 2-0} together, 20} together,
20}, right? It can be }. 2}, that’s right, okay? 2}, &}, so final output should be ‘Et8’, okay? Okay, EC}-
Hoto-#lg, Br} H-o} H-of Ho} quickly, Hol, Ho}l ¥l #ta 82 okay. FgEt8. Hr}- 8- to watch
or to see, okay? | am watching a movie. OK @3} EtL. T} 20|, I'll ask this question to you. ] H3l2? {Fs}t
she } g} vhe, ohA) g, Hele? {98 she) Hle? {Fst vha.} 9st Bhe. Very good, very good, oF3
Agolg.

Lecture 19_Unit 3 313101 § B0} 2. Grammar 2, Speaking 1

oo
OK this is exercise, exercise about Grammar 1 and \g;:}p‘
Grammar 2 °ot2 o]2 38 and 2/&, okay? OK let's go,

ZIATH 1 AEJE2 AE]E2 ]2 jigeum, what does that S N )
mean by jigeum? Now Alg ZTh, AfT}-2t, 2tL, you 2) gAL A2 372 . (ah
i . o o
remember, right? ZICh-2}2. Gol2 yeongeoro, FoJ=? Juptiase (et %
This sentence? Foj2, FoJ2 Hof|R? FoJ2? Steven is :/

HA _ 7(Fusfch

sleeping, sleeping, okay. AE|E2 X]Z 2} L. Steven is now
sleeping, okay? |, £ot8. 2 932 97 gxL 22,
21, now FFE, FLE qRLfTh R} Rh gt Thitg,
mannayo, right? 21L& Th i 23E Tt OK, Yujin is now meeting her friends. Lith= Lt Q31 H}
grh, Hchule wte OK ohA W, mchete, Hchule mohuete mchEle HohEle dhe sl Hhe Hie
o L= gstE Hie Be LUhe F3tE B2 That’s good,
okay, ¥t2. 4 ¥ 4 ¥, A A should say Z53lct-Z5,

SH3)2} question. FEL? OK are you studying? Are
you studying? ZE3R, 3HfQ? U] 3R, FES.
This should be rising intonation and this should be falling
intonation, a little bit, okay? £o}{. o=2|&, 2|2 § 3182

JR88} JHMR? § FRMR? go] §HolE FHR
or 3hzo] Z R} 2 TA], of2|E, 2|7 H s_2 §t=of R 2.
ZAgojQ. gh=o] FRHQ, ], AFojg.

.ce liese

) AEIRE 2|2 2la . (Reh)
2 fAL A3 V7L L (2
3) Lith= g3HE Ehe . (o))
4) A 299 (Frsicl)

B Y], 3E3Ma\

) 30:03/38:48



54, 58 2|2 ¥ s}, it 8ttt actually means to do, to
do something, right? 3lt}, slct, sich 2|2 H {8127} 3122
gotg. 212 § 18?2 £AIE, sukjereul, £AHE Q. $AIS
fle. OK, £A1Z 3t} to do one's homework, okay? (&

‘Sukje’ is the object of the verb ‘hada’ here, right, okay? 7) EotA Rl efdg2  @#E|2chH
SAIE si8. oA AR, SA1E SR, o=2iR AF § o2

Answer me. 2712 s, Th, olzi2 2|2 2 )27 {4712 8) Ol2| A A= #u|__ntMQ. (Z/8)
M 3y, 2A2 e, 2A1S .. 44 44 44, A2 e VAT H_HAL (E/9)
or you can say SA|5L, simpler version, 4818 Without
-£, okay, £AI512 in spoken language. £°t8. 22|¥2
22|92, AZ, A A a book, okay? M2 AZ It} You remember this? To read, right? SitH-{210]8} ThA|
AR Qict-glol g, qirt-9lol ], qirt-glol ., Agloj_ . OK, Julliang is reading a book. EOtA K&, 7H 74 Jet’s
go, 7®, number seven, 7H, EOtA K= EfHL, this is Taekwondo, El8E, you know Tawkwondo uh,
Korean martial arts, right? Ef8E. EotA K= P E-{Hi9Q} sich-ui9l_. Bingo! 2gtol, Aglolg,
Aghole. EntA A= EPEE Hige. viYe, ujoch-ui®)], viQch-Hi$)R. Thomas is Thomas learns
Taekwondo, right? Thomas learns Taekwondo or Thomas is learning Taekwondo, okay. 8 1 8 H, 8 1 7}Q.
0i2] 2 W& Aul-2 {AHu] S} A1)? {#u]E} A1) &, Zot . nj2] 2 A= #Hu|E 0t .. Mariko ssineun keopireul
masyeoyo. OK #I|& np4 Q. #u] vkl glojQ Qo] Q2 {glojQ} §lojQ. That's why &, £012. A= 9 ¥, A=yl
2 0r87{2} 2.2 Yoia. 9he, 9127 (3 glole.} W glole. M, w, w P Gole. ¥ Tole, A
HrS mojQ AU E ot 2. OK 104, 10 ¥, okay. o}22,

5)A 2IFH __ 76t
BAAME___

6) %a]ooho_ ‘H%

il

Yo d()
5 A A2 H 38 ? @tch ofE2 ofE2 ofE2 3% 22, eumak, {342} =%, =%
B 4A4E 8. is music, okay? 29 is music. o2 29t & or 7 {2}
6) 22]9ke Mg 2loja  (Qlth < or 7 {2} 2 %o’ 2% =018, okay? U2

E°]8. What is the basic dictionary form of this §0{2?
ET} Wow, good, okay, you remembered £t} ECF £C}-
=018, ET-50]8, EC}-50]8. Be careful, not &, right?
N He@E Hole. (@/& OK Ett-5olg, A%}, Ech-golg, Ech-Eolr. Sojg
=018, =-3°18. Very good, L5 L5 30|82, 2.
Neomu neomu jalhaesseoyo.

7) EntA N EHEEES Hile . R9Th
8 olel2 Mk S ot (2/8)

OK R517| ®5l7], Wot7] sQ. Speaking, speaking 31.2. OK number 1, number 1. You can see this one. OK
repeat after me, okay? 8 4|, 2|2 ¥ 3182 £8 A, A|Z ¥ 3122 & H ¢, £8 ¥, X|Z H #42? £4 said
2R, R, 2lof N H sie? 2lof N H 812? OK, Riya said A& A& &3 ¢ojo. M2 9oie, Mg
2lol8, okay. Sumit said ¥20] g ¢jojQ? P20} W ¢lojQ? o], ofL]|R, §t=of WS 2JojR. That’s right,
ofL]g, gh=o] A2 QlojQ . That's right. ofL]L, §h=o] A2 QlojQ. OK now translation time, okay? Are you
ready? £H|510]R7? goj=2, GolZ, first line, £ A, |2 H 2?2 {Sumit, what are you doing now?} OK
Sumit, what are you doing now? Sumit, what are you doing now? 35312 2|of A= B s12? Fo|2? {I'm
studying now...} What are you doing, Riya? I'm studying now. What are you doing? OK Riya. A& A+,



Lecture 19_Unit 3 31302 3522 Grammar 2, Speaking 1
B Ry

\-
\;‘1 Y 25}7| (Speaking) 1

Lec!ui % ‘-”Q‘Q.Grammarz Speaking 1 Z‘]h i’HQ °]O1_8_

’ Hg gole. {Im
- reading a book. O ot I‘W TS
I'm reading a
book.} I'm ¢3" |%f° % 2lop = 5 37
reading a book, 20 (A Hg %012 '
| Zote. OK and 49 |gmoiug goiar
then YEo| H2 20 o, _34 i

%ol8?  {Are
you reading a
Japanese book?} That's right, are you reading a Japanese book? OK, o}L]8, of-|2, gt=o] S 9lojQ. {No,
I'm reading a Korean book.} I'm reading a Korean book, that's right. Very good. 2 Z3giojQ Zglio]Q oh|Q,
g3l 22 Yol OK.

Now, | am Riya, you are Sumit, okay? £0}2? £0}8. Let's go, ZAITE. £8 A, A3 H s1Q? {FH3[Q. 2|of
A ) A= 212 Sl (2202 gol27) i, 7301 12 9019, OK, very good. 012 Now
you are? Riya, right? | am Sumit, OK, let's go. ZFAITH A]2E {$El 4], 2|2 § 3127} o] ZE&Q, FH L. 2]of
e Hall? {(Ae A2 gola.} Hall? {2012.} What? Hall? {A= A2 dola.} 11‘: G eojg. 2, dE9
B gojo? {oft]8, gHo] M gloj e .} F2fa a2 ThA| 3H of7jal] 4|8, Rt 82 {olL] ., §t=o] WS ¢loja }
orE8Q. an deu”yeoyo CIA] 3t 1 ofj7[8]] 4| L. 31 ¥ ], of 7|5} k]]_g_(yaegmae Juseyo) 3 Az)2 dE0]
12 gjoj2? {oh]g, §o] Mg gloja } of, Y. Ael2. Helg,

o2& ) ol=1E, ofF ERFLICE 2] ot Zo) Ha, Hapt Fof X7

Azs FA|R. Az (chingchan), compliment, compliment,
35l 8, A3lo], Zgof, 2gfo]!

That’s all for today, okay? OK, this is all for today's lesson. OK, ..
22| QAplL. J2]1 EjQ(kkeunnaeyo), okay? Let's say, T} m
o] cf2ie, ZAICH gl 7hlR. {ehds) AR } - LS




